Consider Global System for Mobile, which is a TDMA/FDD system that uses 25
MHz for the forward link, which is broken into radio channels of 200 kHz. If 8
speech channels are supported on a single radio channel, and if no guard band
is assumed, find the number of simultaneous users that can be accommodated

in GSM.

If GSM uses a frame structure where each frame consists of 8 time slots, and
each time slot contains 156.25 bits, and data is transmitted at 270.833 kbps in
the channel, find (a) the time duration of a bit, (b) the time duration of a slot,
(c) the time duration of a frame, and (d) how long must a user occupying a sin-
gle time slot must wait between two simultaneous transmissions.

If a normal GSM time slot consists of 6 trailing bits, 8.25 guard bits, 26 train-
ing bits, and 2 traffic bursts of 58 bits of data, find the frame efficiency.




